a=(110) b=(-102) ka+b 2a-b

5
1 2 2
3

l:y=ax+b l,:y=bx+a ab=0,a=b

L
04/ % /|o z 0‘ % %I/ z
A(2,0),B(3m) me {g , \/5} AB
O’ZUZ_ﬂ.lﬂj z’z
6 3 6 3
0.7 Ul 2% z 5T
3 6 3 6
f(x)=\/§coszx+sinxcosx—§ g(x)=sin2x
z z
3 3
r r
6 6
A(cosd,sin ) 3X+4y—-4=0
1 4 9
— — 1 —
5 5 5
(K+1)x+(k—1)y—5k—3=0 P(m,n) m+E=1
a
a+b
9 8 7 6
ABC A B,C (a+b)(sin A—sinB) =c(sinC +sinB)
ABC
1 ﬁ J3 1
2 2 D
ABCD AB=2BC=2 M C
BD AM -BD A
-1 5 —3+45 3++/5

20200927



o) @:15%%0_8#%0—6 P,AB,C
(a,6.¢) (a+b,b+C,c+a)
ab  ab<0 a,b
kzy—_2 y—2=Kk(x+1)
X+1
I P,y 90" X=X
I P ) 0 Y=Y,

f(x)= M+|x—ﬂ
£ (x) = {(x=0) +(0-1)° +(x~1)° +(0-0

() (=0) (1)
f(x) 2
t f(x) x=t
f(x)=2 2
ABCD-ABCD, E DD, F CDDC,
B, F a
aF B,F LCD,
B,F BC [% , ﬂ
a CDD.C, 22

ABCD-ABC,D, a

BF//

ABE




l, 2x-y+7=0 |, x+y-1=0 I, 1, A

I A I, |
| P(-3,2) 11 |
P(3,2) | X,y M,N @) S mon
IPM|:|PN| |
D
ABCD AB=AD=CD=2BC=4
= AC PD =+/3PB c
PD= ZMBC = P
4 B
m ax+2y-3=0, n 3x+(@a+l)y-a=0 m//n a
B(2,7)
C  A(-51),B(22) C m:x—2y—-3=0
C
P(4,5) C |
ABCD PDL  ABCD '
I
PD-DC=2 E F AD PC 7 ;
i .
DF//  PBE T e T
D,.p‘ sC

F PBE

wi



BC

PO L
BC

ABC A B,C

ccosA+\/§csin A=b+a

A
11

BD =3DC, cosB=".S w =103 AD

P_ABC AB=BC=2J2 PA=PB=PC=AC=4 O
ABC
M—-PA-C 30° PC PAM
P
A
B
O:x*+y*=1 X P l:kx—y—-k+3=0

K, K,

AC



1x2 25

AC|=|BD|=/6 C BD d d="2=-22
c] - 228
AM -BD —(AC + CM - B - AC -BD+CM -BD. v

A—C-@:(E+%)-<%+Cﬁ):—3,

L S A B
CM -BD< ‘CMHBD‘:Z CM BD A
2 2 2 2

ALO) B(0D) £ (x) = {(x=0) +(0-1)° +,(x~1)° +(0-0)

X P(x,0) P X o)
|PA|+|PB]| f (x) (—,0) =) A X .
|PA|+|PB| (%) (L 40) ]

P A |PA+|PB] 2

0,1)

f ( \/_ P ‘Z\A(I\ﬁ)l’(xﬁ) x

(t+ ):./t+x ) +1+[t+x-1] f(t— ):«,(t—x)2+1+|t—x—

(t+x)# f (t-X) t f(x) x=t
f(

4
X)=2 X’ +1+[x-1=2 X=3 x=0 Ay D,
R M
CD G EG EG//IAB ABE ABGE/ I -
cb M CcC, N B,M, BN, MN - - CNELAE
1 - !
BM //BG, BN // AE BMN//  ABGE SNl
F MN B,MN o Y-S e
F MN B.MN B,F L MN 1 T e
MN //CD, B,F L CD, ° ¢
2 F MN B,F BC
C.F :ﬁ tan ZC,B,F = GF :ﬁ
2 BC, 4
F M N B,F BC tan /C,B,F =+
B,F BC V2 1
42
F MN MN LCF,MN LBF, . /BFC, « CDDC,
tan Z/B,FC, = ==L =22
Cl
ABCD—ABC,D, ABCD ABC,D, BCC,B,

ADD, A a



(-2,3) x+2y-4=0 X—y+5=0 12 x+y-5=0 3 2z
a(@a+1)=2x3 A=2 a=-3 e,
A =3
A=
a=2
| y——§x+§
. SXHT
1
a=-1 biXZ—g L
3 a
az-1 L Y = Xt ——
2+ a+l a+l
1, —a__ 3 §¢—3—— A=2 e
2 a+l 2 a+l
0
B(2,7) TX=2Y =0
0 X+y+b=0
B(2,7) b=-9 X+Y=9=0 ...,
7x-2y=0 x+y-9=0
x-2y-3=0 .. (2L431) o,
r=J2t+3+5)2 +(t—1)2 =/(2t+3=2)2+ (t=2)>  ooiveoreeeeeeeeeeee e
t=-2,r=5 (F172) )
(X1 (Y +2 =25 e,
| l:x=4 C X=4
I k 1:y-5=k(x—4) kx—y+5-4k=0 ...
-k +2+5-4k
I C | |:5::>k:E .............................................
k?+1 35
P(4,5) C | X—4=0 12x-35y+127=0..................
1
G PB

FG//BC FG::EBC

DE//BC DE=%BC DE//FG DE=FG

DEGF DF/IEG ...............
DF « PBE EGc PBE
DF// PBE i
DF// PBE




D PBE F PBE

D PBE d
g 421
D PBE PBDE 3 APBE 3
1
Seoe = 2><DE><AB:1 PE=BE=+5 PB=2\3
g6
3
D DA, DC,DP X,V,2
E0,0) B(22/0) F(O,11
EB=(12,0) EP=(L0,2)
PBE n=(xY,2)
A-EB=0 x+2y=0
= y x=2  fi=(2-11)
A-EP=0 —X+2z=0
F peE  d-PRI_ 2 _
il 6
ABC ccosA+x/§csinA:b+a

sinC cos A+J§sinCsin A=sinB+sin A
sinB =sin(A+C)

A+B+C=rx

0 =2S,00e “PD oo,

SAPBE =

PE = (0,1,=1) cvovoeeeoeee oo,

sinCcos A++/3sinCsin A=sin(A+C)+sin A

sinC cos A+ \/§sinCsin A=sin AcosC +cos AsinC +sin A

\ﬁsinCsin A=sin AcosC +sin A

sinA=0 J3sinC =cosC +1 sin(c—%j:%
0<C<rx c==
3
cosB:E sinB:ﬂ
14

sin A=sin(B+C) =sinBcosC +cosBsinC =

a:b:c=sinA:sinB:sinC=8:5:7 a:8t,b:5t,c:7t

5\/'111\/§4\/§

2142 7

S e =103 S ec :%xSthtx?:lO«/g’ t=1
a=8b=5c=7 BD =3DC BD=6,DC =2 ooioroooeeereeerenn,
ADC =CD? +CA? —2CD-CA-cosC =19
S AD =10 e,
AP=CP=AC=4 O AC OPLAC OP=23
OB AB =BC = % AC ABC



OB L AC OB:%AC=2

OP2+0B?=PB? POLOB .occoooeeeeeeiiiiiieeaiii,

ACNOB=0 ABC
PO L ABC

@) OB X
B(2,0,0) A(0,-2,0) P(0,0,2+/3)

AP =(0,2,2/3) PAC OB=(2,0,00  eereeeee oo
M(a,2-a,0)(0<a< 2) AM =(a,4-a,0)

PAM A =(xY,2)
AP.fi=0,AM -A=0 {2“2*@2:0 A= (3(@=4),v33,-8) oo,

ax+(4—-a)y=0

2\/5(3—4)2 2 cos{ ) 3
23(@a-4)*+3a*+a 2
2\/3|a-4 3

4
=— a=-4 A= =
23(a-4)*+3a’+a> 2 3

Fo BB 4B 4 mr 05 o cos<ﬁ,ﬁ>:£ .....................

ERERE
PC PAM ? ...............................................................

cos<@, ﬁ> =

O x*+y*=1 X P
0(00) r=1 PLO) e,
Il kx—y—-k+3=0 @)

o) I d=

R B

A%, Y1) B(X,Y,)
kx—y—-k+3=0
{x2+y2:1
Lo L SV i .52
1+k? 2 14k?

K +k, = Vi o, Yo :k(x1—1)+3+k(x2—1)+3 3 3

(L+k?)X2 —(2K2 —BK)X+ K2 —BK+8=0 rorverrerrerrrrenn,

=2k+—+
-1 x,-1 X —1 X, =1 -1 x,-1

304 +%-2) . 32k —6k—2(1+k?)]
XX, — (X% +X%,) +1 k?—6k +8—(2k* —6k) +1+k>
_18k-6 2

9 3
k, +Kk, PP

=2k +

=2k +




